H & 0l & AHS B Ml A

A HSuUSH
B HAQUD OB DESBH XA
el 2Ag X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Hsnss 66,294,293 58,754,850 7,539,443
= 12,919,100
[ 300,000
= 5,791,572
Al 47,283,621
AMUALD e nsed X 66,210,821 58,671,378 7,539,443
= 12,919,100
[ 300,000
= 5,791,572
Al 47,200,149
2 X2 65,621,743 58,464,650 7,157,093
= 12,919,100
= 300,000
= 5,791,572
Al 46,611,071
2=gH RS 13,941,000 17,811,000 3,870,000
307 @120l & 13,941,000 17,811,000 A3,870,000
09 2FSHEXS 13,941,000 17,811,000 A3,870,000
O2=gH RIIEX= 13,941,000
—HASH(ER) 738,000,000 738,000
— A4 (CNG) 1,303,000,000& 1,303,000
—EHAIE A 5,500,000,000& 5,500,000
—ot=gH 6,400,000,000& 6,400,000
AMUHHA THEXIE 16,879,811 14,960,684 1,919,127
308 AFAIEHMSOIH 16,879,811 14,960,684 1,919,127
07 Xt EE2 16,879,811 14,960,684 1,919,127
OAlLIHA 248X MEXIH
4,031,621,000& 4,031,621
O=Cd 2tsgol &42X
12,232,890,000& 12,232,890
OAlUHA 2SS 2 & AHIA X
el 615,300,000 615,300
Srligol EAEH 65,188 65,625 VAVIXT4
308 XXM SOIA 65,188 65,625 VAV:XT4
07 AX L= 65,188 65,625 NA37
OltStA dAdsgel 22
65,188,000& 65,188
MaHA SUEX 18,103,875 10,050,000 8,063,875
= 12,002,500
= 1,800,375
Al 4,301,000
307 elztol & 18,103,875 10,050,000 8,063,875
= 12,002,500
[ 1,800,375




A HSuUSH
B HAQUD OB DESBH XA
=t 2+=AtE XA EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 4,301,000
B 2=gHEXS 18,103,875 10,050,000 8,053,875
OMaHA ZXIA 18,103,875,000& 18,103,875
= 12,002,500
= 1,800,375
Al 4,301,000
MattA 2SX& 910,000 1,005,000 85,000
=S 273,000
Al 637,000
307 @12t0| & 910,000 1,005,000 /95,000
< 273,000
Al 637,000
QO 2=HHEXS 910,000 1,005,000 /85,000
OXMaitA 2SI 5,000,000 ~182CH 910,000
= 273,000
Al 637,000
LEUSIOHE A OtEelX N&H 1,833,200 983,000 850,200
= 916,600
& 274,980
Al 641,620
308 XXM SOIH 1,833,200 983,000 850,200
= 916,600
< 274,980
Al 641,620
11 S [2S0 et oA AS A 1,833,200 983,000 850,200
OgEnEINC o OiYeIX N
1,833,200,000& 1,833,200
= 916,600
== 274,980
Al 641,620
FAYE wSHl XA 851,580 762,688 88,892
308 XXM SOIA 851,580 762,688 88,892
07 AX R FE= 851,580 762,688 88,892
OFad - FHE wSH| N
851,580,000& 851,580
LA 2dEds ME Y 20,000 20,000
207 ARl 20,000 20,000
01 A S| 20,000 20,000
OLdtA SHEAT ME BY
20,000,000& 20,000
S3EHA X 600,000 600,000 0
s 300,000
Al 300,000




A HSuUSH
B HAQUD OB DESBH XA
Rl 2FA X3 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 600,000 600,000 0
= 300,000
Al 300,000
09 2+ AHAELS 600,000 600,000 0
OB2EHA NA(TAE DEDY AR)
600,000,000 600,000
[ 300,000
Al 300,000
SHEE HA 2E AH 218,000 234,000 16,000
< 109,000
Al 109,000
307 lztol & 218,000 234,000 16,000
= 109,000
Al 109,000
09 2 AELS 218,000 234,000 216,000
OXEEHA X 218,000,000& 218,000
= 109,000
Al 109,000
) S3HA A2 1,767,717 1,432,258 335,459
308 XM SOIE 1,767,717 1,432,258 335,459
11 S 2S0 e EAS A 1,767,717 1,432,258 335,459
OFIE S3HA A XI&
1,767,717,000& 1,767,717
28 29 EXIAMY 47,466 53,914 26,448
308 AXIMSOIA 47,466 53,914 A\6,448
07 HXHH2LEES 47,466 53,914 6,448
OB HA SLBAN 24 NZRYS
47,466,000 47,466
Al JIEZH =2 K& 743,476 636,303 107,173
== 223,043
Al 520,433
307 212+01& 743,476 636,303 107,173
[ 223,043
Al 520,433
09 2+A2LS 743,476 636,303 107,173
OHAl HH=Z2 M =5 K&
743,476,000 743,476
= 223,043
Al 520,433
Al JtEEHZD| SeE X 91,477 91,504 N2T
s 27,443
Al 64,034
307 @I2t01 & 91,477 91,504 N7
& 27,443




A HSuUSH
B HAQUD OB DESBH XA
=t 2+=AtE XA EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 64,034
B 2=gHEXS 91,477 91,504 averd
O8Al JtEE2)| Stlg XN
91,477,000 91,477
== 27,443
Al 64,034
SHEUE Al 24 2 250,000 250,000 0
307 lztol & 250,000 250,000
09 2+AE2LS 250,000 250,000
OSHTUS 2l 24| X
250,000,000 250,000
HOIEHAl 2SS AF XIS 591,360 591,360 0
=S 422,400
Al 168,960
307 @120l & 591,360 591,360 0
< 422,400
Al 168,960
QO 2=HHEXS 591,360 591,360 0
02023 HOISAl 2LBAK HRIE BE
= 591,360,000 501,360
= 422,400
Al 168,960
LOHERAl EDIRAID 25X sAF X2 154,400 63,000 91,400
=S 22,320
Al 132,080
306 EX= 80,000 80,000
01 £g= 80,000 80,000
OZIRIZESHHE 2=
80,000,000 80,000
307 lztol & 74,400 63,000 11,400
= 22,320
Al 52,080
08 OIXt2& = 74,400 63,000 11,400
OLBIEAl ZI|RALD 25X EXHOIAL) X
! 74,400,000 74,400
S 22,320
Al 52,080
EAISHEE 2CIAAE 2EAY 45,927 45,108 819
308 AHXIHMS0IA 45,927 45,108 819
11 S [2S0 e YA AS A 45,927 45,108 819
OB NSOHBE HASHEBRAZIAIL
B 29 IEFAIZEHI(2023H)
45,927,000 45,927
SAIEE A8 20,000 0 20,000




A HSuUSH
M IAUD OHNE DESA X4
el 2AE X EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 A& Bl L= Ch| 20,000 20,000
01 A&t 20,000 20,000
OSAIRE 218! 2450|889
20,000,000& 20,000
SgussH 29 8,103,266 6,650,776 1,452,490
=S 2,447,011
Al 5,656,255
308 AtAIEHMSOIE 8,023,176 6,609,176 1,414,000
< 2,447,011
Al 5,576,165
11 S [2S0 e 4 A A5 A 8,023,176 6,609,176 1,414,000
OUSAI0ISAHME B&H AL
8,023,176,000& 8,023,176
= 2,447,011
Al 5,576,165
403 MR EHSAHE01H 80,090 41,600 38,490
02 SISOt =2 A 2 E A I 80,090 41,600 38,490
OUSH0ISAHME 2SN IS A
80,090,000 80,090
Sguss+H = 384,000 736,000 /352,000
< 192,000
Al 192,000
405 AHaHE = 384,000 736,000 /352,000
= 192,000
Al 192,000
01 ML ESFSHI 384,000 736,000 /352,000
OSENS+HFMHASXI=A) 7
48,000,000 +8CH 384,000
=S 192,000
Al 192,000
et nsaad &g 589,078 206,728 382,350
AU A SS2H0ITH0l AH 227,341 183,658 43,683
201 =3 227,341 183,658 43,683
02 S5=24g4l 227,341 183,658 43,683
OAILHH A SES2A0ITH0] AFS
18,945,0832 «12& 227,341
wESEAM XA 3,800 3,800
307 el2to| & 3,800 3,800
02 2IZHBYAIHE A 3,800 3,800
OsFelEssEMe usS=sIgs fEXR
A X1 3,800,000& 3,800
nsdy 23 19,270 19,270
201 =3 4,600 4,600
01 AtR2t2lt] 4,600 4,600
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